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Time Allowed: Three Hours

Maximum Marks: 199

o umber on question paper before iti | '
Write vour roll num start writing answers of i
: questions. No supplemen
tary

answerbook will be givento any candidate, hence the candidates should write the answer precisel
A isely.

Part - Ashall contain question No. I consisting of very short type X (Ten) questions. The candidate is required
to answer each question in 20 words. Part - B shall contain question No. 2 consisting of 5 (five) questions. The

candidates is required to answer each question in 100 words. Part - C shall contain 3 essay type questions (one

fromeach section) with internal choice.

Attempt Five question in all. All questions of Part - A and Part - B are compulsory while rest 3 question are to
be attempted from Part - C selecting one question from each section. All question carry equal marks.
PART -A/41T — A

I Answeral) the questions (Define the following)
Wi @ ey ARy (aRumr Af7Y)

1. I
- Productjop Possibility Curve
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i Ban
1. Factor Abundance

RISER*CIERI
iv. Gold Points

ot gt

Effective rate of tariff

godh I THTATel %

Vi.

vii. Marshall - Lerner condition
Arefei—a R W
viii. Dumping
NIEEIGE 7
ix. Currency Swap
IR CRICEC]
x. Balance of Payment

PART - B/9IT — >

2. Answer all the questions.
Y et B TR AT |
i. Explain Neo-classical theory of Harberler.
o R e ) e A
ii. Whatisnew protectionism inInternational Trade?
eI TR 3 e ¥
What are the various types of terms of trade?

mﬁmﬁ‘fzﬁﬁﬁﬁwmﬁ?

rium effect of tariff.

1ii.

Explain the partial equilib
W$$1'13I$WWﬁmW |
Differentiat€ petween fixedand flexible exchange rate. Us
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iv.
¢ appropriat® diagram
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horate the LS. Mill's theory of Rccipmcal Demang
|-labor: ang.

s g et @ b (TRRuRa) iy o Rigg T

|
OR / 3oyqy
Explain the welfare effect of Internationa] Capital Movement,

Wiﬁma%wmmaﬁwmm
SECTION - C /wgvg — 4

5. Explainthe objectives and methods of exchange contro),

= ﬁrﬁwﬁmaﬁ%mawaﬂmaﬁml

OR / 31erar
What are the reasons of disequilibrium of BOP and remedies for it?

BOPST-eT @ IRVl 21T STt ) ey |

208. v



00020
pal"

ns.) Part- 1l and p¢__
(Hons
B.A

-----------------

]| Due of p

Ma, Eco.The,
art. EXAMINATION -2
(Faculty of Arts)
(Three-Yeqy Scheme of 104243 Pattern)
(Honours Subject)

ECONOMICS
Fifth Paper
(Macro Econopj, Theory)

PART - A /¥9p7 — 3
Explain the followings :

2X10=20
21 o ALEIRTE :
“Spending “Omponents of GNp

Mk %mmm

iii,

P.T.0.




iV. Fisher equaﬁon QIQTM and Fisher effect.

Q.T.M.WWH@WWWW
v. The GNP gap
S g Y. SraTet
vi. Saving function X
gad — el
vii. The liquidity trap
axeTrdr oftel
viii. Liquidity effects ofachange in the moncey supply.
a1 qfct ¥ gRac &1 Tahel gura
ix. Difference between GNP, and GNP,,,.
QY= AT R GNP g 9I9TR SBIFd I GNP H argv
5.

x. Capital - Output Ratio
ofl-Seafy srgama
PART-B/H9T T — §

2. Answer all questions.
I g & IR ST |
1. Conceptual problems in the estimation of GDP.
el TN IS B ATA H SFTURID FHE |
Keynesian approach on the determinants of the Demand for Money.
qeT Y AT B Fuikes & T § P wa
iii. The detenninzcmts of investment in Keynesian Model.
BINGT Hied H a9 & FURS aq
1v. The Phillips Curve Analysis
fisfered ag faweryor

v. Balance Budget Multiplier

Aferd geie ot

1.

PART-C/@vs — |
SECTION-A/@vs — ¥

. ) iale ) enlf
3. Whatare the three approaches to measuring economic activities? Why the three are equivi

7 b AR 7 & i gfemior g & & - 3 qaTed? v gea R A A
OR / 3r2qar

. o . . . stenl.
Explain the circular flow of income ina two sector and three sector economic sySt”

<1 — e i A &3 3 yoreh § oy o ey war @ FEER |
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SECTION - B / g
-3

jvesand its instruments of monetary Policy

bjcCt v
mbﬂ':%h P ICEXEL a1 SUHRON ) gy o )
W OR / Jrorgy

Jmeant by ligh Powered Moncy (Hpwm)p ; XPlain the fp
Whﬂldo yo 1:1’;:1 &7 ge qfr(f Y H 2ar 49 AT W | Ty of Money Supply
g o OR / 31orqy
i odman's theory of demand for money.
piscts® sie 7 i & Rigrd P! TN |
K by SECTION - C / gug _

stethe Keyne's Psychological law of consumption,
Fla bor

b & AT W BT gy | 19
1 doyoumeant by Investment Multiplier? Elaborae he process of mylipy;
? PIEDIKDI ALY Plier. 10
Tircﬁ 2! TP |
OR / 312y
Discuss the classical model of Income and Employment. On What ground J M Keynesattack op classical
S ' .
model.
mamﬁmmﬁmlmmm W, B Y 7 S
foa?
alent?
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Define secondary data?

' ?
fecirss wriep 1 TR BT
Define sampling error.

Wi gfear far) wedl &7
Whatis cartogranes?
rifer fopm) ey 82

Define Median,

TP Yy ferer 87
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W) Write down any one difference between corelation ang reg
Tessi

HE—THIET G GHYITHA o Hedl bl ) Ueb 37k aare) |

C
n ﬂnmhi
Sig,

(vi) Define Laspeyers Price Index.
ARUIR SIHA--JADIH B dATZU |
(vi1)  Whatis time-series analysis?
FTe—Hoft feay fFd eed 872
(viii)  Define probability.

@A B0 HEd 22

(1x) Inhow many ways can the letter STATISTICS be written?

STATISTICS ¥1&q @ 3R b b= UebrR A forear s wreer 37

(X) Whatis Type Il error?
fga Hife 3 Ffe Fare?
PART - B/ 9T — (q) 0
2. (i) Whatare sampling and non-sampling errors?
o 3R vd xRt g 7 B 27 .

(ii) Write down difference between census and sampling method?

STorT qe it yonferat # s forfad?
(iii) Write ashort note on Karl Pearson's coefficient of corelation.

1l R &1 HE—Te I IR et H 9aregd |
(iv) Write down properties of the Normal Distribution.

T 9 1 de o faRrary forfan | (b
(v) Define t-testand write down its properties.

- ofiEror 2 AR AR Td g Tor ot ferad |

PART - C/ 9T — (¥) - L

>
SECTION -A/@vs — 3
3. (a) CalculatetheArithmetic Mean, Median and Mode from the following data:-
Wages (Rs.)  No. of persons
20 - 60 80
20 - 55 74
20 - 40- 40
20-30 12
20 - 50 e 67 (
20-45 _ 55
20-25~ 5 y
20-35/ 22
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qé@ﬁ (ﬁ) 80 |
00! 74
-5 40
0 40 '
20° ¥ 07
- 55
-4 S
w-> 2

?0';5

1Geometric Mean ang |
fnotc ot nd Harmgp:
asho Nic Mean)

, - I R
- OR/3texqy

1€
) Wit

~qleulate the Mean and Standard Deviation and its Co-efficien; f,
) (a ro

N’oOfﬂCCianIS . 0 l 2 3 4 5 6 l
S0nS mvolved: 1616 21 10 16 8 4 LTI
ers

mthe following data:

P

1616 21 10 16 g 4 ,

3 (b) Whatis Kurtosis? How is it measured? Give the formula for Kurtosis?
; e T &7 ST I feb¥ TR e i 27 g i
SECTION - B/ @vs — §

4. (a) Calculate the co-efficient of correlation between the marks obtained by 10 students in accountancy
>4

12

and Statistics

Students 12 3 4 5 6 7 8 9 10
Accountancy : 45 70 65 30 90 40 50 75 85 60
Swisis  : 35 90 70 40 95 40 60 80 80 S0

et e e e wriRera 3 Tt o TG ) A - T 1 T
1 2 3 4 s 67 8 900

TT, 45 70 65 30 90 40 S0 75 85 60

e . 35 90 70 40 95 40 60 80 80 0 s

Write .

«medshon note on Rank-Correlation?

%

!zos-vu% e~ v wiferee 3 o ferfed |

3
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OR/3teray
4. (a) Explain the term regression and iismililyinccnnmnic'm'xlysis' Why are ]
THYSIS Why are there (w yo
wo rLgrcssi(m I
I

. TRTTHT 1 31ef qangd qon anfola PRI graf) uafiven adaiga | uf

TV Yors
2 Ry Ay

4. (b) Using the following data construct Fisher's ideal index

and show tha it satisfieg factor
and time reversal test fever

3
)

Price (in Rs) Unit No. of Unit

Commodity  Base Year Current Year Base year Current Year
A 6 8 10 12
B 10 10 5 8
C A 7 8 10
D 15 20 12 15
E 20 25 15 10

W@W@meﬁwmmﬁmmmmmm
TE TS G T ST U -SSP TR0 T el &7

P (Rs) e GlEl
| = R a§  aad MR A T o
A 6 8 10 12
B 10 10 3 8
C 5 7 8 10
- D 15 20 12 15
E 20 25 15 10

SECTION-C/4@vs — ¥

5. Distinguish between the normal and binomial distribution and discuss the importance of 12
distribution for statistical inference?

ST T (2 deAl g T iforg et wikeradta Fred @ fRrg S 9 @ T At

garzy |
OR/31q4ar

Discribe the various steps involved in testing of hypothesis. What is the role of standard error >
Hypothesis?

_ )
wqﬁmﬂ?ﬁqam?ﬁmﬁamﬁﬁamﬂ ¥ o1 ot TR | e Hae i
71 1 fad 87

2208 - VII 4



(jon paper contains 3 printed pages.
~of i

e ques

”ﬂ\ q

B A.(Hons.)([’(, -1

1208- VI

B.A. (Hons)) Part - 11 and Py,

()()()24 I RollNo. oo

Ind. Eco.-11
~1 Due of Part - 11 EXAMINATION - 2021
(Faculty of Arts)

(Three-Year Scheme of 10243 Pattern)

(Honours Subject)
ECONOMICS
w Eighth Paper

Indian Economy - 11
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Write your roll number on question paper before start writing answers of questions. No supplement

ary
answertook will be given to any ¢

andidate, hence the candidates should write the answer precisely
part - A shall contain question No. 1 consisting of very short type X (Ten) questions. The candidate is required
1o answer each question in 20 words. Part - B shall contain question No. 2 consisting of 5 (five) questions. The

candidates 1s required to answer each question in 100 words. Part - C shall contain 3 €ssay type questions (one

from cach section) with internal choice.

Atempi Five question in all. All questions of Part - A and Part - B are compulsory while rest 3 question are to

beatempted from Part - C selecting one question from each section. Al qQuestion carry equal marks.

PART - A /90T — §
Answer the following questions:

10X2=20
Feferfead yodi & wa Ao —

Whatis the current base year for Wholesale Price Index?
A A e & forg adr R ad a2

Write any two main import's goods of India.

1 G ST o) I Al e 2 e axq3il @ A farfday |

B Doy
Define l)cll(:ll]:irlanCing'-

'Hraaﬁ, o PR :
i e o ufewnfng ifore |

PT.0.




iv. Define 'Headline Inflation'.

TS FEREIRY B ufeTa BIT |

V. Write any two main functions of World Trade Organisation.
fa%a TR v @ g <1 e v |

vi. Define 'Frictional Unemployment'.
TS RIS 1 gReir A |

vii. Write any two main objectives of Fiscal Policy.
RT3 < e sied fre |

viii. When was established "NITI Aayog"?
Y ST Y e g oY 2

IX. Write any two main objectives of sconomic planning in India.
IR e o 2 @ e v frfee |

X.  Define 'Balance of Payment'. Q
T ST ) a9 IR |

PART -B/HTT — 9

2. Answer the following questions : Xy
FretfeRae st 2 e difrg—
L NITI Aayog'.
Y s
1i.  Write the core principles of World Trade Organisation.
g R ¥i7re 3 s Rigre ke |
1ii. Whatare the ‘concepts of unemployment'?
RIS B SraRomy ay §2
1v. Write top five import sources/ countries for India in 2020.
2020 # 4R B forY G ¥ a1 it/ <@l o A forRag |
V. Discuss'Wholesale Price Index".
1o T T B A o |
PART-C/@vg — g
SECTION - A / @vg — g
3. Discuss the structural and directional changesin India's imports after 1991 12480
1991 $WW$W$Wamwﬁaﬁﬁﬁaﬁaﬁml
OR / 3terar
4. Discuss the functions, objectives and achievements of 'International Monetary Fund'. 570
RIS q&T I & i, wmmwmm.
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Y lOyment . 1500
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W % o Scpre o) sy o hiay 2 e for |
OR / orqp
he coneept of 'Poverty Line'in Ing;,. Critically evaluate th
e

g.\'P‘m

Government's strategy of poverty
e\'iation

J 5+15-20
g mﬁmmﬁW|ﬁqm$mWﬁmmWﬂ
PeLAR

SECTION - ¢/ @vs — @

iscuss the targets and achievements of plansinIndiaand critically evaluate the planning process

10+10=20
mqmaﬁ$a&ﬁamﬁlﬁmwhaﬂm@hmmﬁmmwmm'
OR / 341 2

.~ Givea critical appraisal of twelth five year plan.

Mmmmwmwwm|



